
The changing economic world: Challenge grid 

Revision 
 

 

 
Define the term 

‘Transnational 

Corporations’ 

 

Explain the link between the DTM and a country’s level of 

development. 

 

Outline one disadvantage of 

using a single measure of 

development such as 

income. 

‘Transnational corporations (TNCs) only bring 

advantages to the host country.’ Do you agree 

with this statement? Justify your decision 

Outline one limitation of 

only using GNI per head 

as a measure of 

development 

Describe advantages of short-

term aid for recipient countries  

 

Suggest one reason why 

life satisfaction scores vary 

between countries. 

Give one disadvantage of using a social measure 

of development such as life satisfaction. 

Suggest how increasing 

economic development 

can affect birth rate at 

Stage 3 of the DTM model 

 

Suggest two ways that the level 

of economic development of a 

country might affect the quality 

of life of its people. 

 

Suggest one reason why 

Fairtrade schemes are not 

always successful. 

Explain the advantages of this location for the 

Cambridge Science Park. 

 

Describe how tourism can help 

social development 

 

Suggest one way 

microfinance loans can 

help to reduce the 

development gap. 

Suggest how conflict may 

have affected a LICs level of 

development 

Outline one way that Fairtrade helps to deal with 

the problems of unequal development. 

 

Give two reasons why there has been 

a growth in the number of science 

parks in the UK. 

Suggest how fair 

trade schemes can 

affect a country’s 

development 

Evaluate the effectiveness of tourism in 

reducing the development gap.  

 

Using a case study of a LIC/NEE country, explain how 

manufacturing industry can encourage economic development. 

Describe advantages of 

long-term aid for recipient 

countries  

 

Outline one way the political 

relationship of a named 

LIC/NEE country with the 

wider world has changed. 

What is GNI? 

 

Outline one 

possible 

consequence 

of uneven 

development 

What is HDI? 

 

Describe the disadvantages of 

long-term aid for recipient 

countries 

 

Suggest how one or more strategies might reduce 

regional differences in the UK. 

 

Describe the causes of 

uneven development 

 

Explain the impact of promoting tourism as 

a way of increasing development in an LIC 

or NEE 

Outline one disadvantage of using a single 

measure of development such as life expectancy. 

 

Outline one way the 

trading relationship of a 

named LIC/NEE country 

with the wider world has 

changed. 

Describe the disadvantages of short-term aid for recipient 

countries 

 

Outline one way in which tourism can help 

deal with the problems of uneven 

development 

 

Define the term ‘development 

gap’ 

 

Define the term ‘de-

industrialisation’ 

 

Explain how modern industrial 

developments can be made 

more environmentally 

sustainable. 

For a LIC or NEE you have studied, to what extent has 

tourism helped reduce the development gap 

 

Describe how the UK’s transport links help to 

connect it to the wider world 

 

‘Microfinance loans are a better long-term aid to a country’s development than 

international aid’. Do you agree with this statement? Justify your decision. 

Explain how the north-south divide can be 

reduced 

Give one reason for the 

development of the north-south 

divide 
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